ON REALIZING NAKAOKA'S COINCIDENCE POINT TRANSFER AS AN S-MAP

BY

DANIEL H. GOTTLIEB¹

1. Introduction

In [6] the existence was asserted of a transfer for fibre bundles whose fibers were compact manifolds. This transfer is a homomorphism in singular homology or cohomology. In [1] this transfer was shown to be induced by an S-map, at least for fibre bundles with compact Lie groups as structure groups and finite complexes as base spaces. When a transfer is induced by an S-map then it exists in every cohomology and homology theory. In the case of the transfer in [1] the S-map led immediately to a simple topological proof of the Adams Conjecture.

The transfer map for finite covering spaces was known to be induced by an S-map. This fact was crucial in the proof of the celebrated Kahn-Priddy theorem [8].

At present there are several different transfers defined in various circumstances. Many are defined only for singular homology groups. Sometimes these are not realized by S-maps. For example the transfer for ramified coverings [10] does not commute with the Steenrod algebra [7] (also attributed to Dold). Hence it cannot be realized by an S-map. Recently, Ralph Cohen [4] has shown that the ramified covering transfer can be realized if the ramified covering is localized at certain primes. This was also known to Larry Smith.

In [9], Nakaoka obtained a transfer in the following situation: Let

$$E_1 \xrightarrow{p_1} B$$
 and $E_2 \xrightarrow{p_2} B$

be fibre bundles with closed oriented m-dimensional manifolds M_1 and M_2 as fibres. Suppose that $\pi_1(B)$ acts trivially on both $H^m(M_1; \mathbb{Z})$ and $H^m(M_2; \mathbb{Z})$. Let f and g: $E_1 \rightarrow E_2$ be fibre preserving maps covering the identity 1: $B \rightarrow B$. Then there is a homomorphism

$$\tau_{f,g}: H^*(E_1; \mathbb{Z}) \to H^*(B; \mathbb{Z})$$

such that $\tau_{f,g} \circ p_1^*$ is multiplication by $\lambda(\bar{f}, \bar{g})$ where \bar{f} and \bar{g} are the restrictions

© 1986 by the Board of Trustees of the University of Illinois Manufactured in the United States of America

Received November 9, 1984. ¹Partially supported by a grant from the National Science Foundation.

of f and g to a fibre and $\lambda(\bar{f}, \bar{g})$ is the Lefschetz trace of $\bar{f}^*\bar{g}^!$, that is $\lambda(\bar{f}, \bar{g}) = \sum_i (-1)^i \operatorname{tr}(\bar{f}^*\bar{g}^!)_i$ where $g^!$ is the Umkehr map. We shall show the following theorem.

THEOREM. $\tau_{f,g}$ is induced by an S-map $\tau: B \to E_1$ if B (and hence E_1 and E_2) is a closed oriented manifold, both fibre bundles p_1 and p_2 are smooth, and g is a normal map.

We require manifolds because we want to use Umkehr maps to define the transfer. We use smoothness to obtain bundles of tangents along the fibre easily.

Nakaoka's construction was a variation of the constructions in [6] and [2]. Our method here uses the techniques in [3]. The strategy is to define the transfer for singular cohomology as a composition of induced homomorphisms and Umkehr maps, in fact $p_1^! F^*G^!$ where F and G will be defined later. These maps are induced by maps of Thom spaces and then the condition that g is a normal map will yield a Thom space of a trivial bundle, which is a suspension. In order to express the transfer as $p_1^! F^*G^!$ we must give a somewhat different definition of the coincidence number transfer than Nakaoka's.

2. An S-map

Consider the following diagram of spaces and maps:



Here

(1)

$$E_1 \xrightarrow{p_1} B$$

is a fibre bundle with M_1 the fibre over a fixed b and

$$M_1 \xrightarrow{\iota_1} E_1.$$

Similarly

$$M_2 \xrightarrow{i_2} E_2 \xrightarrow{p_2} B$$

is a fibre bundle. Let D be the subspace of $E_1 \times E_2$ given by

$$D = \{(e_1, e_2) \in E_1 \times E_2 | p_1(e_1) = p_2(e_2)\}.$$

Let $\pi_1: D \to E_1$ be projection on the first factor, i.e., $\pi_1(e_1, e_2) = e_1$, and let $\pi_2: D \to E_2$ be projection on the second factor, $\pi_2(e_1, e_2) = e_2$. Then π_1 and π_2 are fibre bundles with fibres M_2 and M_1 respectively and the fibre inclusions are j_2 and j_1 respectively. The composition $p_1 \circ \pi_1 = p_2 \circ \pi_2 = p$ is itself a fibre bundle with fibre inclusion

$$M_1 \times M_2 \xrightarrow{i} D.$$

Now if $f: E_1 \to E_2$ is a fibre preserving map over the identity define the "graph" $F: E_1 \to D$ by

$$F(e_1) = (e_1, f(e_1)).$$

Similarly G is the graph of g: $E_1 \rightarrow E_2$. Note that

(2)
$$\pi_1 \circ F = 1_{E_1}, \ \pi_2 \circ F = f \text{ and } \pi_1 \circ G = 1_{E_1}, \ \pi_2 \circ G = g.$$

We now assume that E_1 and E_2 are smooth manifolds. Then D is a smooth manifold and all the bundles in (1) are smooth. Now let α_1 and α_2 be the bundle of tangents along the fibre

$$E_1 \xrightarrow{p_1} B$$
 and $E_2 \xrightarrow{p_2} B$

respectively. Also let β_1 and β_2 be tangents along the fibre for

$$D \xrightarrow{\pi_2} E_2$$
 and $D \xrightarrow{\pi_1} E_1$

respectively. Then six pullback relations are easily seen to hold:

(3)
$$\beta_1 = \pi_1^* \alpha_1, \quad \beta_2 = \pi_2^* \alpha_2,$$

 $F^* \beta_1 = \alpha_1, \quad F^* \beta_2 = f^* \alpha_2, \quad G^* \beta_1 = \alpha_1, \quad G^* \beta_2 = g^* \alpha_2$

For example, $F^*\beta_2 = F^*(\pi_2^*\alpha_2) = (\pi_2 \circ F)^*\alpha_2 = f^*\alpha_2$ by the equations in (2).

Now we imitate the approach of §5 of [3]. We embed E_1 in \mathbb{R}^N by a smooth embedding k. Then we embed E_1 in $B \times \mathbb{R}^N$ by sending $e \mapsto (p_1(e), k(e))$. The normal bundle of E_1 in $B \times \mathbb{R}^N$ is $-\alpha_1$. Let $\hat{p}_1: B^N = \sum^N B^+ \to E_1^{-\alpha_1}$ be the collapsing map from the Thom space B^N of the trivial N dimensional bundle N to the Thom space of the normal bundle of E_1 in $B \times \mathbb{R}^N$.

The embedding $F: E_1 \to D$ extends to a bundle map $\alpha_1 \to \beta_1$. So F induces a map $\overline{F}: E_1^{-\alpha_1} \to D^{-\beta_1}$.

Finally G: $E_1 \to D$ is an embedding. Note that $G^*\beta_1 = \alpha_1$. Also note that the normal bundle of $G(E_1)$ in D is $G^*\beta_2$. Thus the normal bundle of $G(E_1)$ in $D^{-\beta_1}$ is $G^*(-\beta_1) \oplus G^*(\beta_2) = -\alpha_1 + g^*(\alpha_2)$. Thus if \hat{G} denotes the collapsing map of $D^{-\beta_1}$ onto the Thom space of the normal bundle of $G(E_1)$ in $D^{-\beta_1}$ then \hat{G} : $D^{-\beta_1} \to E_1^{-\alpha_1+g^*(\alpha_2)}$.

The composition

(4)
$$\hat{G} \circ \bar{F}\hat{p}_1: \Sigma^N B^+ \to E_1^{-\alpha_1} \to D^{-\beta_1} \to E_1^{-\alpha_1+g^*(\alpha)}$$

gives rise to the required S-map

$$\tau\colon \Sigma^N B^+ \to \Sigma^N E_1^+$$

if $-\alpha_1 + g^*(\alpha_2)$ is stably trivial, i.e., $-\alpha_1 + g^*(\alpha_2) = N$.

Now $g^*(\alpha_2)$ is stably equivalent to α_1 if and only if $g: E_1 \to E_2$ is a normal map. This follows since

$$g^*(-\tau_{E_2}) = g^*(-\alpha_2 - p_2^*(\tau_B))$$

= $-g^*(\alpha_2) - g^*p_2^*(\tau_B) = -g^*(\alpha_2) - p_1^*(\tau_B)$

and

$$-\tau_{E_1} = -\alpha_1 - p_1^*(\tau_B)$$

and since $g^*(-\tau_{E_2}) = -\tau_{E_1}$ we see that $g^*(\alpha_2) = \alpha_1$. Thus we have shown:

LEMMA 1. If $g: E_1 \rightarrow E_2$ is a normal map then

 $\tau = \hat{G} \circ \overline{F} \circ \hat{p}_1 \colon \Sigma^N B^+ \to \Sigma^N E_1^+.$

3. The induced homomorphism

First we shall show that $\tau: \Sigma^N B^+ \to \Sigma^N E_1^+$ induces $p_1^! F^* G^!$ on homology. More precisely we have the following lemma where

$$S: H^*(X) \to H^*(\Sigma^N X)$$

denotes the suspension isomorphism.

LEMMA 2. $S^{-1}\tau^*S = \pm p_1^! F^*G^!$

Proof. Since p_1 and p_2 are orientable fibrations so are $\pi_1: D \to E_1$ and $\pi_2: D \to E_2$. Hence $\alpha_1, \alpha_2, \beta_1$ and β_2 are orientable vector bundle. Hence their associated Thom spaces admit Thom isomorphisms, which we shall

denote by S. Then

$$S^{-1}\tau^*S = S^{-1}\hat{p}_1^*\bar{F}^*\hat{G}^*S \quad (by \text{ Lemma 1})$$

= $(S^{-1}\hat{p}_1^*S)(S^{-1}\bar{F}^*S)(S^{-1}\hat{G}^*S)$
= $(\pm p_1^!)(\pm F^*)(\pm G^!) \quad (by (8), (9), (10) \text{ of } \$3 \text{ in } [3])$
= $\pm p_1^!F^*G^!$

Now set $\tau_{f,g} = p_1^! F^* G^!$. We must show that $\tau_{f,g} \circ p_1^*$ is a multiplication by $\lambda(\bar{f}, \bar{g})$ where $\lambda(\bar{f}, \bar{g}) = \Sigma_i (-1)^i \operatorname{tr}(\bar{f}^* \bar{g}^!)_i$, the Lefschetz trace of $\bar{f}^* \bar{g}^!$.

LEMMA 3. $\tau_{f,g} \circ p_1^*$ is multiplication by k where $k = \langle i_1^* F^* G^!(1), [M_1] \rangle$

Proof.

$$\begin{aligned} \tau_{f,g} p_1^*(x) &= p_1^! F^* G^! p_1^*(x) \\ &= p_1^! F^* G^! (G^* \pi_1^*) p_1^*(x) \\ &= p_1^! F^* (\pi_1^* p_1^*(x) \cup G^!(1)) \\ &= p_1^! (F^* \pi_1^* p_1^*(x) \cup F^* G^!(1)) \\ &= p_1^! (p_1^*(x) \cup F^* G^!(1)) \\ &= x \cup p_1^! (F^* G^!(1)). \end{aligned}$$

Now

$$p_1^!(F^*G^!(1)) \in H^0(B, \mathbb{Z}) \cong \mathbb{Z}$$

and so $\tau_{f,g} p_1^*$ is multiplication by $p_1^! (F^*G^!(1))$. But

$$p_1^!(F^*G^!(1)) = \langle i_1^*(F^*G^!(1)), [M_1] \rangle.$$

Finally we must show that $\langle i_1^*F^*G^!(1), [M_1] \rangle = \lambda(f, \bar{g})$, the Lefschetz trace of $f^*\bar{g}^!$ where \bar{f} and \bar{g} are the restrictions of f and g to the fibre $M_1 \to M_2$. Let $\bar{F}, \bar{G}: M_1 \to M_1 \times M_2$ be the graphs of \bar{f} and \bar{g} respectively, so that \bar{F} and \bar{G} are restrictions of F and G to the fibre M_1 . Then $i \circ \bar{F} = F \circ i_1$ and $i \circ \overline{G} = G \circ i_1$ as can be seen by referring to diagram (1). By an argument similar to Lemma 1 of [3] we have that $\overline{G} i_1^* = \pm i^* G^!$. Thus

$$i_1^*F^*G^!(1) = \overline{F}^*i^*G^!(1) = \pm \overline{F}^*\overline{G}^!(i_1^*(1)) = \pm \overline{F}^*\overline{G}^!(1).$$

Thus we have shown:

LEMMA 4.
$$i_1^*F^*G^!(1) = \pm \overline{F}^*\overline{G}^!(1)$$
.

Then the following lemma concludes the proof.

LEMMA 5. $\overline{F}^*\overline{G}^!(1) = \lambda(\overline{f}, \overline{g})[\overline{M_1}] \in H^m(M_1; \mathbb{Z}).$

Proof. We will show this for rational coefficients \mathbf{Q} , and that will imply the lemma. Let B be a homogeneous basis for $H^*(M_1, \mathbf{Q})$ and let \hat{B} be a dual basis defined by $\hat{b} \cup a = \delta_{ba}[\overline{M_1}]$ where $a \in B$. Let $\Delta: M_1 \to M_1 \times M_1$ be the diagonal map. Let μ be the unique element in $H^m(M_1 \times M_1; \mathbf{Q})$ defined by

$$\mu \cap [M_1 \times M_1] = \Delta_*[M].$$

Then $\mu = \sum_{b \in B} (-1)^{|b|} \hat{b} \times b$, (see p. 302, exercise 2 of [5]). Using the formula

$$(x \times y) \cap (\xi \times \eta) = (-1)^{|y| |\xi|} (x \cap \xi) \times (y \cap \eta)$$

we obtain

$$\Delta_*[M_1] = \mu \cap ([M_1] \times [M_1])$$

= $\sum_{b \in B} (-1)^{|b|(1+m)} (\hat{b} \cap [M_1]) \times (b \cap [M_1])$

Note that $\overline{G} = (1 \times \overline{g}) \circ \Delta$. Hence

$$\overline{G}_{*}[M_{1}] = (1 \times \overline{g})_{*} \Delta_{*}[M]$$

= $\sum_{b \in B} (-1)^{|b|(1+m)} ((\hat{b} \cap [M_{1}]) \times (\overline{g}_{*}(b \cap [M_{1}]))$

Hence

$$\overline{G}^{1}(1) = D^{-1}(\overline{G}_{*}[M_{1}])$$

= $\sum_{b \in B} (-1)^{|b|(1+m)} D^{-1}((\hat{b} \cap [M_{1}] \times \overline{g}_{*}(b \cap [M_{1}]))$

where D is the Poincaré Duality isomorphism. We have

$$\overline{G}^{!}(1) = \sum_{b \in B} (-1)^{|b|(m+1)} \cdot (-1)^{m|b|} \hat{b} \times D^{-1} \overline{g}_{*}(b \cap [M_{1}]).$$

Hence $\overline{G}^{!}(1) = \sum_{b \in B} (-1)^{|b|} \hat{b} \times \overline{g}^{!}(b)$. Then

$$\overline{F}^*\overline{G}^!(1) = \Delta^*(1 \times \overline{f})^*\overline{G}^!(1)$$
$$= \Delta^*\left(\sum_{b \in B} (-1)^{|b|} \widehat{b} \times \overline{f}^*\overline{g}^!(b)\right)$$

So $\overline{F}^*\overline{G}^!(1) = \sum_{b \in B} (-1)^{|b|} \hat{b} \cup \overline{f}^*\overline{g}^!(b)$. Now $\overline{f}^*\overline{g}^!(b) = \sum_{c \in B} \Gamma_b^c c$ where $\Gamma_b^c \in \mathbf{Q}$. Hence

$$\overline{F}^*\overline{G}^!(1) = \sum_{b \in B} (-1)^{|b|} \widehat{b} \cup \left(\sum_c \Gamma_b^c c\right)$$
$$= \left(\sum_{b \in B} (-1)^{|b|} \Gamma_b^b\right) [M_1]$$
$$= \lambda(\overline{f}, \overline{g}) [M_1].$$

694

Remark. The usual definition of the coincidences index which Nakaoka used is based on comparing two maps,

$$M_1 \xrightarrow{\Delta} M_1 \times M_1 \xrightarrow{f \times g} M_2 \times M_2$$

and

$$M_2 \xrightarrow{\Delta} M_2 \times M_2.$$

In our proof we compare

$$M_1 \xrightarrow{\Delta} M_1 \times M_1 \xrightarrow{1 \times f} M_1 \times M_2$$

with

$$M_1 \xrightarrow{\Delta} M_1 \times M_1 \xrightarrow{1 \times g} M_1 \times M_2$$

References

- 1. JAMES C. BECKER and DANIEL H. GOTTLIEB, The transfer map and fibre bundles, Topology, vol. 14 (1975), pp. 1–2.
- 2. _____, Applications of the evaluation map and the transfer map theorems, Math. Ann., vol. 211 (1974), pp. 277–288.
- 3. ANDREW CASSON and DANIEL H. GOTTLIEB, Fibrations with compact fibres, Amer. J. Math., vol. 99 (1977), pp. 159–189.
- RALPH L. COHEN, Realizing transfer maps for ramified coverings, Pacific J. Math., vol. 122 (1986), pp. 347–356).
- 5. ALBRECHT DOLD, Lectures on algebraic topology, Springer, New York, 1972.
- 6. DANIEL H. GOTTLIEB, Fibre bundles and the Euler characteristic, J. Differential Geometry, vol. 10 (1975), pp. 39-48.
- 7. R. KUBELKA, A formula for deviation from commutivity: The transfer and Steenrod squares, Proc. Amer. Math. Soc., vol. 85 (1982), pp. 119–124.
- D.S. KAHN and S.B. PRIDDY, Applications of the transfer to stable homotopy theory, Bull. Amer. Math. Soc., vol. 78 (1972), pp. 981-987.
- 9. MINORU NAKAOKA, Coincidence Lefschetz numbers for a pair of fibre preserving maps, J. Math. Soc. Japan, vol. 32 (1980), pp. 751-779.
- LARRY SMITH, Transfer and ramified coverings, Math. Proc. Camb. Philos. Soc., vol. 93 (1983), pp. 485–493.

PURDUE UNIVERSITY WEST LAFAYETTE, INDIANA